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214 | *&KK | 00170 P X 4 il v 2 BEE |9 20 |80.80 |#ANERXTEHE
215 | #yfvE [ 00197 P IX 4 1L 2 BE ]9 22 77.80 | HENERTEH
216 | =3t | 00085 P X 4 il v 2 |9 3 74.00 |#FANZERATEH
217 | *HF] | 00294 P X 4Ly A 9 8 80.60 | #EAZERTLH
218 | 3% | 00174 P IX 4 il 2 |9 12 [83.20 |#ENERIEH
219 | *f | 00030 P IX 41l v 2 vl 9 1 82.60 |#EAZERTEH
220 | *f&EE | 00202 P X A il v 2 A9 7 79.20 |#EANZERTEH
221 | *JFH | 00213 P IX 41l v 2 M9 9 84.20 |HEANZEIATEH
222 | *AEL | 00147 Do X A 1L A9 10 76. 80

223 | *EfE | 00124 P4 X A 1 Ly 2 =9 13 78. 20

224 | *33h | 00132 P X 4 il v 2 w9 15 | 76.00

225 | #fHE [ 00507 D34 X A 1Ly 2 A9 19 [82.80 |t ANZERKEH




| e | REF e B8 N U EEP gy
226 | L | 00426 Pgs X 4l o 2 Al o9 23 |8L.20 [HANZEREHE
227 |t | 00362 P X A L 2 Ej@ 10 15 | 87.00 |k ARG
228 | *fTHF | 00184 P IX 41l v 2 1;7?( 10 17 [ 86.40 |#ENZERIEH
229 | =B [ 00444 | PdIXAEILEE =i [ B3] 10 18 [ 85.40 | ANZERIEH
230 [ *3EF | 00043 | PIMXAEILE R | JE |10 2 85.60 |HEANZERTEHE
231 [ =75 [ 00434 |  PigXfEZE =g | k| 10 3 85.40 |HEANE I
232 | *FF [ 00402 |  PIIXAEILZEHE | ]| 10 5 87.60 |#EANERTLH
233 | *3C77 [ 00376 | PdEIXAEILEE e | A 10 6 79. 60

234 | * &K | 00013 PR IX A B b A b= | 10 7 86.60 | HEANZERTLH
235 | «pEEE [ 00075 | pdIXAEILEE —HiE | A 10 9 85.40 | #EAZEATEH
236 | % [ 00509 | POdEIXAEILEE —diE | | 10 10 | 86.40 |#ANERTEH
237 | 3¢ | 00346 | XA = dE | k| 10 16 | 83.60

238 | *EE [ 00718 | IXAEILZE—HE | A 10 1 82. 60

239 [ *3C4 | 00633 | PiIIXAHRLISE e | AW | 10 4 84.00 |HEANZERTEH
240 | «EH [ 00693 | PIIXAEILEE G | AW 10 11 |83.80 |#EANEREH
241 | *#k | 00661 X e 55 — sy | B 10 12| 84.40 |#AZERATEH
242 | #JUe | 00641 | IMIXHELE b | A 10 13 [86.20 |#ENZERIEH
243 | «REA [ 00234 | piIXAEILEE e | AW 10 14 |87.00 |#AZEAEH
244 | *£5 | 00719 P IX A L 2 b A Byg |10 8 86.20 |#FANZERXILHE




